
Chapter 3/ Descriptive Statistics Far
Quan t i t a t i ve  Da ta

We know how to form a histogran from Chpt.

Here we leann methods that help us assigh
numbers to those histograms, dot plats ete.

The shape at the

Given a distribution of data resvenen lo ????
connectin the bars of

o We can determine the histogram
3.1

l oca t ion  o f  i t s center
3.2

? We can determine the spread of the distribute

? Then when we have an individual data point

we  can  show  i t lo cât lon in the distibnti
3.3

(EX distribution sec
3.2

spread
yourlor dog

sec
3.3

chihuahvas weight
4 2 h s G l b s | enter

Sec 3.1
1 0 l 6 5

Q: It is un usnal that a chihuahva! han

a weight of 9lbs?

We answer these kinds of questions in this Chapter.



m e a n

sum o f  a l l  da ta in  @
the set

Def: E X i
Ne tota l  number of

data points
(Frequently the mean i refered to as the average)

EX mean quiz score.

? Raw: 10, 9,10,3, 8,7,10,9,4 N=9

?  m e a n : 1 0 + 9 7 1 0 7 3 7 8 + 7 1  1 0 + 9 + 4

9

7 0
= 7 . 7 8

9

calculator: clearont 2nd,CSR
10 E+,
9 E + .
3 E t

9 { 1 )

4

2nd 7.78

The mean
N o t  t h e

best measure
o f

center  fo

skewed data

?  I n te rp re ta t i on  o f  t he  mean : let data = bricks

I skewed Left
see-saw +

5 10
These data
Scores will decrease, Falcrum

the mean alot!! Balancing Point of the Data Set



(3)
median The middle data point, is called
the median. Halt the date is to the left
and half is to the right of the median

The Calculation of the median depends on

whether we have an even of odd countin our data set

EX O d d  s e t : 92,83,68,85,78 N=5

1. Order the data 68,78,83,85,92
2. Pick tar middle numbers
3. That number called the median of the set

EX Even Set: 20,15,12,27,13,19,13,21

1. Order ta data: 12,13,13,15,19,20,21,27

2. We have no middle number so average
the two middle numbers ihstead:

15+19 = 34 = 1 7
2

3. The median is 17 even though 19 is not
a member of our data we call it the median
nevertheless!



? We saw that the mean is highly influened (4)
by an extreme point, the median howere
is not as influenced.

XI Here are the annual iticomes of 5 families

in a f ive-plex row of apartments.

? ordered: 25k,31k, 34k, 44k, 56k
mean

?  mean 25+31+34+44 +56_41000 = 38,00050
5

Now One Family inherib 1.025 M dol lars ih the nextyr.
C le t  that  be the #25000 fami ly ) )

?  m e a n :
1,025R +311+3412+442+56k mean

= 238,000
pre-inheritance

a mode: 25,31, 34g 44,56 mode = 34,000
post-inheritance

? mode 31,34,44/56,1025 mode =44,000

#Obsevations: The mean and median can be
summarized in skewed distributions as:

mediay

A median
m e a n

left skewed
mean is cragged left

m e a n

symmetrie

median

m e a n

r ight skewed
Mean is dragged right



Mode

E X !

The most fregent data point is called
the mode. I "most popular"?

ordered data: 0,441,32,33,5 1= mode

0 5
L o d e

After picking a guit up from the TLC. new
my ordered dat is 0,1,41,2,2,33,3,5

_bi-modal data
? mode can be applied to qualitative (categorical

data)
Ex, makes of cars in a parkily lot

Honda Toyota Toyota Honda Ford
chery Nissan Ford chery Chery
Honda Dodge Ford Ford Toyota

Honda Toyota Fard Chery Niss. DodyCount:

m o d e :  F o r d



We have completed the three measures of
center.

@ Lets  look  a t  how to  es t imate  the  mean when

we are give a tregrency table-OR-a histogram:

class
0-19 18 1010
20-39 130

40-59 6 5060-79 6 70 20p 40g.
80 100

8 0 - 9 9 mid
10 90 points

To es t imate  the  mean we se lec t  the  midd le

number  o f  each c lass

X = ETassE midpoint* Freguency
Total Data Points

Counts +90*10
V

1 0 + 1 8 + 3 0 7 1 + 5 0 5 6 + 7 0 * 6
5 1

=  2130
5 / = 4 1 . 7 6 x  = 4 1 . 8

approximate,

*Summary :
Distribution

? Unimodal Symmetric
? uni modal skewed /outiers

? scattered distributor

Cente r

mean
m e d i a n

m o d e


